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gm_mÝ` {ZX}e … 
{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m nmbZ H$s{OE … 

(i) Bg àíZ-nÌ _| Hw$b 37 àíZ h¢, g^r àí Z A{Zdm ©̀ h¢Ÿ& 

(ii) àíZ-nÌ _| N>: IÊS> - H$, I, J, K, ‹S> VWm M h¢Ÿ&  

(iii) IÊS> - H$ … àíZ g§. 1 go 20 VH$ ~hþ{dH$ënr` àH$ma Ho$ àíZ h¢Ÿ& àË òH$ àíZ 1 A§ H$ H$m h¡Ÿ& 

(iv) IÊS> - I … àíZ g§. 21 go 24 VH$ A{V bKw-CÎmar` àH$ma Ho$ àíZ h¢Ÿ& àË òH$ àí Z 2 A§H$m| H$m 
h¡Ÿ& àË òH$ àí Z H$m CÎma 40 eãXm| go A{YH$ H$m Zht hmoZm Mm{hEŸ& 

(v) IÊS> - J … àíZ g§. 25 go 29 bKw-CÎmar` àH$ma Ho$ àíZ h¢Ÿ& àË òH$ àíZ 3 A§H$m| H$m h¡Ÿ& àË òH$ 
àíZ H$m CÎma 60 eãXm| go A{YH$ H$m Zht hmoZm Mm{hEŸ & 

 (vi) IÊS> - K … àíZ g§. 30 go 33 XrK©-CÎmar` àH$ma Ho$ àíZ h¢Ÿ& àË òH$ àíZ 5 A§H$m| H$m h¡Ÿ& àË òH$ 
àíZ H$m CÎma 120 eãXm| go A{YH$ H$m Zht hmoZm Mm{hEŸ& 

(vii) IÊS> - ‹S> … àíZ g§. 34 go 36 Ho$g AmYm[aV / òmoV AmYm[aV àíZ h¢Ÿ& àË òH$ àíZ _| 3 Cn  
àíZ h¢Ÿ& àË òH $ àíZ 4 A§H$m| H$m h¡Ÿ& 

(viii) IÊS> - M … àíZ g§. 37 _mZ{MÌ H$m¡eb AmYm[aV h¡Ÿ& `h àíZ 5 A§H$m| H$m, 37 (i) B{Vhmg g o  
(2 A§H$) Am¡a  37 (ii) ŷJmob go (3 A§H$) h¡Ÿ& 

(ix) Bg àíZ-nÌ _| g_J« ê$n go {dH$ën H$m àmdYmZ Zht h¡Ÿ& {\$a ^r Hw$ N> àíZm| _|  AmÝV[aH$ {dH$ën 
{XE JE h¢Ÿ& Eogo àíZm| _| go Ho$db EH$ {dH$ën H$m CÎma {bIZm h¡Ÿ& 

(x) BgHo$ A{V[aº$ àË òH$ IÊS > Am¡a àíZ Ho$ gmW, Ohm± ^r  Amdí`H$ h¡, n¥WH$ go {ZX}e {XE JE h¢Ÿ& 

 IÊS> - H$ 
 (~hþ{dH$ënr` àíZ)  (20×1=20) 

1. {ZåZ{b{IV H$mo H$mb-H«$_mZwgma ì`dpñWV H$s{OE Am¡a ghr {dH$ën H$m M`Z H$s{OE : 1 

(I) Zonmo{b`Z `wÕ  
(II) {d`Zm g§{Y 
(III) ñdV§ÌVm Ho$ {bE J«rH$ g§Kf©  
(IV) Am°Q>mo_Z gm_«mÁ` _| ñbmd amï´>dmX 
{dH$ën … 
(a) III, II, I Am¡a IV (b) I, II, III Am¡a IV 

(c) IV, III, II Am¡a I (d) IV, II, III Am¡a I 

2. H¡$bme~m{eZr Xodr, Vmam~mB© qeXo Am¡a n§{S>Vm am_m~mB© Ho$ boIZ Ho$ ~rM {ZåZ{b{IV _| 
go H$m¡Zgm nhby g_mZ WmŸ? 1 

(a) OZVm Ho$ {bE Am{W©H$ g_mZVm H$s _m§J H$sŸ& 
(b) _{hbmAm| Ho$ AZw^dm| na àH$me S>mbZmŸ& 
(c) gm§ñH¥${VH$ {damgV Ho$ ~mao _| OmJê$H$ H$aZmŸ& 
(d) ^maVr`m| H$mo CZH$s amï´>r` ñdV§ÌVm Ho$ {bE àoaUmŸ& 
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GENERAL INSTRUCTIONS : 
Read the following instructions very carefully and follow them : 

(i) This question paper contains 37 questions. All questions are compulsory. 

(ii) Question paper comprises six Sections – A, B, C, D, E and F. 

(iii) Section A – Question no. 1 to 20 are Multiple Choice Questions of 1 mark each. 

(iv) Section B – Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 

marks each. Answer to each question should not exceed 40 words. 

(v) Section C – Question no. 25 to 29 are Short Answer Type Questions, carrying 3 

marks each. Answer to each question should not exceed 60 words. 

(vi) Section D – Question no. 30 to 33 are Long Answer Type Questions, carrying 5 

marks each. Answer to each question should not exceed 120 words. 

(vii) Section E – Question no. 34 to 36 are Case based/Source based questions with three 

sub questions and are of 4 marks each. 

(viii) Section F – Question no. 37 is map skill based, carrying 5 marks with two parts, 

37(i) from History (2 marks) and 37(ii) from Geography (3 marks). 

(ix) There is no overall choice in the question paper. However, an internal choice has 

been provided in few questions. Only one of the choices in such questions have to be 

attempted. 

(x) In addition to this, separate instructions are given with each section and question, 

wherever necessary. 

 SECTION – A (20×1=20) 

 (Multiple Choice Questions) 

1. Arrange the following in chronological order and choose the correct  

option : 1 

(I) Napoleonic wars 

(II) The Treaty of Vienna 

(III) Greek Struggle for Independence 

(IV) Slav Nationalism in Ottoman Empire 

Options : 

(a) III, II, I and IV (b) I, II, III and IV 

(c) IV, III, II and I (d) IV, II, III and I 

2. Which one of the following aspects was common among the writings 

of Kailashbashini Debi, Tarabai Shinde and Pandita Ramabai ? 1 

(a) Demanded economic equality for masses. 

(b) Highlighted the experiences of women. 

(c) Raised awareness about cultural heritage. 

(d) Motivated Indians for their national freedom. 



  

32/4/1 4

3. ì`mnma Ho$ àdmh _| Eogo VrZ _hÎdnyU© {dH$mg hþE {OÝhm|Zo nyd©-AmYw{ZH$ Xw{Z`m H$mo ~hþV 
N>moQ>m H$a {X`mŸ& {ZåZ{b{IV {dH$ënm| _| go EH$ JbV H$s nhMmZ H$s{OE … 1 

(a) ì`mnma H$m àdmh (b) l_ H$m àdmh 

(c) ny§Or H$m àdmh (d) àm¡Úmo{JH$s H$m àdmh 

4. {ZåZ{b{IV _| go {H$gZo ^mn B§OZ _| gwYma {H$`m ? 1 

(a) Ooåg dm°Q> (b) Wm°_g E{S>gZ 

(c) ~|Om{_Z \«¡$§H${bZ (d) AboŠO¢S>a âboq_J 

5. {ZåZ{b{IV _| go H$m¡Zgm bm¡h YmVw H$m CXmhaU h¡ ? 1 

(a) Vm§~m (b) OñVm 

(c) ~m°ŠgmBQ> (d) {ZH$b 

6. ñV§^-1 H$m {_bmZ ñV§^-2 go H$s{OE Am¡a ghr {dH$ën H$m M`Z H$s{OE : 1 

  ñV§^ - 1  ñV§^ - 2 
 (g§gmYZ)  (CXmhaU) 

(I) O¡d 1. H$mò bm  

(II) ZdrH$aUr` 2. dÝ`-Ord 

(III) AZdrH$aUr` 3. gm¡a-D$Om© 

{dH$ën … 

 I II III 

(a) 1 3 2 

(b) 3 2 1 

(c) 2 3 1 

(d) 1 2 3 

7. {ZåZ{b{IV _| go H$m¡Zgm `w½_ ghr {_bmZ h¡ ? 1 

(a) Obmo‹T> _¥Xm - {Og_| aoV Am¡a {gëQ> hmoVr h¡Ÿ& 

(b) H$mbr _¥Xm - {Og_| Z_H$ H$s _mÌm ~hþV A{YH$ hmoVr h¡Ÿ& 

(c) ewîH$ _¥Xm - {Og_| {H«$ñQ>br` bmoho H$m àgma hmoVm h¡Ÿ& 

(d) b¡Q>oamBQ> _¥Xm - Omo bmdm àdmh go ~Zr hmoVr h¡Ÿ& 

8. {ZåZ{b{IV Xoem| _| go {H$gH$m _mZd {dH$mg gyMH$m§H$ _| ~ohVa ñWmZ h¡ ? 1 

(a) Aµ\$Jm{ZñVmZ (b) å`m§_ma 

(c) ^maV (d) Zonmb  
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3. There were three important developments that greatly shrank the  

pre-modern world. Identify the incorrect one from the following 

options : 1 

(a) The flow of trade (b) The flow of labour 

(c) The flow of capital (d) The flow of technology 

4. Who among the following improved the steam engine ? 1 

(a) James Watt (b) Thomas Edison 

(c) Benjamin Franklin (d) Alexander Fleming 

5. Which one of the following is an example of the Ferrous Metal ? 1 

(a) Copper (b) Tin 

(c) Bauxite (d) Nickel 

6. Match the column - 1 with column - 2 and choose the correct option : 1 

  Column - 1 Column - 2 

 (Resources) (Example) 

(I) Biological 1. Coal  

(II) Renewable 2. Wildlife 

(III) Non-renewable 3. Solar Energy 

Options : 

 I II III 

(a) 1 3 2 

(b) 3 2 1 

(c) 2 3 1 

(d) 1 2 3 

7. Which of the following is correctly matched ? 1 

(a) Alluvial Soil - Consist of sand and silt 

(b) Black Soil - Salt content is high 

(c) Arid Soil - Diffusion of iron in crystalline  

(d) Laterite Soil - Made up of Lava flows 

8. Which of the following countries has better rank in Human 

Development Index ? 1 

(a) Afghanistan (b) Myanmar 

(c) India (d) Nepal 
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9. ^maV _| {ZåZ{b{IV joÌH$m| _| go "gH$b Kaoby CËnmX' _| {H$gH$s {hñgoXmar gdm©{YH$  
h¡ ? 1 

(a) àmW{_H$ 

(b) {ÛVr`H$ 

(c) V¥Vr`H$ 

(d) MVwW©H$ 

10. ^maV gaH$ma Zo 1991 _| ì`mnma {Z`_m| H$mo CXma Š`m| ~Zm`m ? 1 

(a) gaH$ma {dXoer _wÐm H$mo ^maVr` _wÐm Ho$ ~am~a ~ZmE aIZm MmhVr WrŸ& 

(b) gaH$ma npíM_r Xoem| Ho$ gmW AÀN>o g§~§Y ~ZmE aIZm MmhVr WrŸ& 

(c) gaH$ma MmhVr Wr {H$ ^maVr` CËnmXH$ {díd ~mµOma _| à{VñnYm© H$a|Ÿ& 

(d) gaH$ma MmhVr Wr {H$ g^r H$mo gm_m{OH$-Am{W©H$ Ý`m` {_boŸ& 

11. _mZd {dH$mg Ho$ {df` _| {ZåZ{b{IV H$WZm| H$mo n{‹T>E Am¡a ghr {dH$ën H$m M`Z 
H$s{OEŸ : 1 

(I) `h g§̀ wº$ amï´> {dH$mg H$m`©H«$_ (`yEZS>rnr) Ûmam V¡̀ ma {H$`m J`m EH$ g_J« 
gyMH$m§H$ h¡Ÿ& 

(II) BgHo$ _mnZ Ho$ {bE bå~r C_«, gmjaVm Am¡a à{V ì`{º$ Am` _mnX§S> h¢Ÿ& 

(III) {dH${gV Am¡a {ZåZ {dH$mgerb Xoem| Ho$ AZwgma Xoem| H$s a¢qH$J H$s OmVr h¡Ÿ& 

(IV) {díd ~¢H$ OrdZ H$s JwUdÎmm Ho$ AmYma na _mZd {dH$mg H$s [anmoQ>© V¡̀ ma H$aVm 
h¡Ÿ& 

{dH$ën … 

(a) I Am¡a II 

(b) II Am¡a III 

(c) I Am¡a III 

(d) II Am¡a IV 
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9. Which one of the following sectors contribute highest in the GDP of  

India ? 1 

(a) Primary 

(b) Secondary 

(c) Tertiary 

(d) Quaternary  

10. Why did the Indian government liberalize trade regulations in 1991 ? 1 

(a) Government wanted foreign exchange equivalent to Indian 

Currency. 

(b) Government wanted to maintain good relations with Western 

Countries. 

(c) Government wanted Indian producers to compete in the World 

Market. 

(d) Government wanted to provide socio-economic justice to all. 

11. Read the following statements about Human Development and 

choose the correct option : 1 

(I) It is the composite Index prepared by United Nations 

Development Programme (UNDP). 

(II) Parameters to measure it are Longevity, Literacy and Per Capita 

Income. 

(III) Countries are ranked according to Developed and Low 

Developing countries. 

(IV) World Bank also prepares report of Human Development on the 

basis of Quality of Life. 

Options : 

(a) I and II 

(b) II and III 

(c) I and III 

(d) II and IV 



  

32/4/1 8

12. {ZåZ{b{IV Am§H$‹S>m| H$mo n{‹T>E Am¡a ZrMo {XE àíZ H$m CÎma {b{IE … 1 

h[a`mUm, Ho$ab Am¡a {~hma Ho$ Hw$N> VwbZmË_H$ Am±H$‹S>o 

amÁ` {eew _¥Ë ẁ Xa  
à{V hOma ì`{º$ 

gmjaVm Xa 
% 

{Zdb CnpñW{V AZwnmV 
à{V 100 ì`{º$ 

h[a`mUm 
Ho$ab 
{~hma 

30 

7 

32 

82 

94 

62 

61 

83 

43 

 h[a`mUm H$m {Zdb AZwnpñW{V AZwnmV {H$VZm h¡ ? ghr {dH$ën H$m M`Z H$s{OE : 

(a) 39 (b) 27 

(c) 38 (d) 18 

13. {ZåZ{b{IV _| go H$maImZm| Ho$ l{_H$m| Ho$ {dH$mg H$m H$m¡Zgm EH$ bú` h¡ ? 1 

(a) ~ohVa doVZ (b) ~ohVa VH$ZrH$ 

(c) H$m_ Ho$ A{YH$ K§Q>o (d) A{YH$ l_ H$m`© 

14. {ZåZ{b{IV _| go H$m¡Zgm `w½_ gw_o{bV h¡ ? 1 

(a) àmW{_H$ joÌH$ - \y$b H$s IoVr H$aZo dmbm 

(b) {ÛVr`H$ joÌH$ - Xw½Y {dH«o$Vm 

(c) V¥Vr`H$ joÌH$ - _Nw>Amam 

(d) {d{Z_m©U joÌH$ - _mbr 

15. gÎmm Ho$ ~§Q>dmao go g§~§{YV {ZåZ{b{IV H$WZm| na {dMma H$s{OE Am¡a ghr {dH$ën H$m 
M`Z H$s{OEŸ… 1 

(I) ~hþg§»`H$dmX bmoH$V§Ì H$s dmñV{dH$ AmË_m h¡Ÿ& 

(II) `h {d{^Þ g_yhm| _| g§VwbZ Am¡a gm_§Oñ` ~ZmVm h¡Ÿ& 

(III) `h gm_m{OH$ g_yhm| Ho$ ~rM g§Kf© H$s g§^mdZm H$mo H$_ H$aVm h¡Ÿ& 

(IV) gÎmm H$s gmPoXmar bmoH$V§Ì H$m gma h¡Ÿ& 

{dH$ën … 

(a) I, II Am¡a III 

(b) II, III Am¡a IV 

(c) I, III Am¡a IV 

(d) I, II Am¡a IV 
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12. Read the following data and answer the question that follow : 1 

Some comparative Data on Haryana,  

Kerala and Bihar 

State Infant 

Mortality Rate 

(per thousand 

person) 

Literacy 

Rate % 

Net Attendance 

Ratio (per  

100 person) 

Haryana 

Kerala 

Bihar 

30 

7 

32 

82 

94 

62 

61 

83 

43 

 How much is the Net Absence Ratio of Haryana ? Choose the 

appropriate option from the following : 

(a) 39 (b) 27 

(c) 38 (d) 18 

13. Which one of the following is a developmental goal of the factory 

workers ? 1 

(a) Better wages (b) Better technology 

(c) More hours of work (d) More labour work 

14. Which one of the following pairs is correctly matched ? 1 

(a) Primary Sector - Flower Cultivator 

(b) Secondary Sector - Milk Vendor 

(c) Tertiary Sector - Fisherman 

(d) Manufacturing Sector  - Gardener 

15. Consider the following statements on Power Sharing and choose the 

correct option : 1 

(I) Majoritarianism is the real spirit of democracy. 

(II) It creates balance and harmony in different groups. 

(III) It reduces the possibility of conflict among social groups. 

(IV) Power sharing is the essence of democracy. 

Options : 

(a) I, II and III 

(b) II, III and IV 

(c) I, III and IV 

(d) I, II and IV 
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16. ZrMo {XE JE àíZ _| Xmo H$WZ, A{^H$WZ (A) Am¡a H$maU (R) {XE JE h¢Ÿ& H$WZm| H$mo 
n{‹T>E Am¡a ghr {dH$ën H$m M`Z H$s{OE : 1 

 A{^H$WZ (A) : lrb§H$m Zo "V{_b' H$mo amÁ` H$s EH$_mÌ A{YH$m[aH$ ^mfm Ho$ ê$n _| 

AnZm`mŸ& 

 H$maU (R) : lrb§H$m H$s gaH$ma Zo ~hþg§»`H$nañVr Ho$ VhV H$B© H$X_ CR>mEŸ& 

 {dH$ën … 

(a) (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì`m»`m h¡Ÿ& 

(b) (A) Am¡a (R) XmoZm| ghr h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡Ÿ& 

(c) (A) ghr h¡ bo{H$Z (R) JbV h¡Ÿ& 

(d) (A) JbV h¡ bo{H$Z  (R) ghr h¡Ÿ& 

17. ñV§^ - A H$m {_bmZ ñV§^ - B go H$s{OE Am¡a ghr {dH$ën H$m M`Z H$s{OE : 1 

 ñV§^ - A  ñV§^ - B 

 ({df`)  (gyMr) 

(I) ~¢H$ 1. g_dVu gyMr 

(II) H¥${f 2. g§K gyMr 

(III) {ejm 3. amÁ` gyMr 

(IV) H$åß`yQ>a 4. Ad{eï> {df` 

{dH$ën … 

 I II III IV 

(a) 4 3 1 2 

(b) 3 4 1 2 

(c) 2 3 1 4 

(d) 4 2 1 3 

18. ~m°Šg _| Xr JB© OmZH$mar H$s ghm`Vm go ^maV gaH$ma H$s àemg{ZH$ ì`dñWm H$s 
nhMmZ H$s{OE Am¡a ghr {dH$ën H$m M`Z H$s{OE Ÿ: 1 

  1. Ho$ÝÐ Am¡a ñWmZr` gaH$mam| Ho$ ~rM e{º$ H$s {hñgoXmarŸ& 

  2. amÁ` gaH$mam| H$mo CZHo$ gmW Hw$N> e{º$`m§ Am¡a amOñd gmPm H$aZo H$s Amdí`H$Vm 
hmoVr h¡Ÿ& 

  3. Bgo {Ì-ñVar` gaH$ma H$hm OmVm h¡Ÿ& 

{dH$ën … 

(a) VmZmemhr ì`dñWm (b) EH$mË_H$ g§Kr` ì`dñWm 

(c) {dHo$ÝÐrH¥$V ì`dñWm (d) gm_«mÁ`dmXr ì`dñWm 
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16. Two statements are given below as Assertion (A) and Reason (R). 

Read the statements and choose the correct option : 1 

 Assertion (A) : Sri Lanka adopted ‘Tamil’ as the official language of 

the State. 

 Reason (R) : The Govt. of Sri Lanka adopted a series of majoritarian 

measures. 

 Options : 

(a) Both (A) and (R) are true and (R) is the correct explanation  

of (A). 

(b) Both (A)  and (R) are true but (R) is not the correct explanation 

of (A). 

(c) (A)  is true but (R) is false. 

(d) (A)  is false but (R) is true. 

17. Match column − A with column − B and choose the correct option : 1 

 Column − A  Column − B 

 (Subjects)  (List) 

(I) Banks 1. Concurrent List 

(II) Agriculture 2. Union List 

(III) Education 3. State List 

(IV) Computer 4. Residuary Subjects 

Options : 

 I II III IV 

(a) 4 3 1 2 

(b) 3 4 1 2 

(c) 2 3 1 4 

(d) 4 2 1 3 

18. Identify the administrative level of Indian Government with the help 

of the information given in the box and choose the correct option : 1 

  1. Power shared between Central to Local Government. 

  2. The State Governments are required to share some powers and 

revenue with them. 

  3. It is called a three tier government. 

Options : 

(a) Dictatorial System (b) Unitary Federal System 

(c) Decentralized System (d) Imperialistic System 
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19. {ZåZ{b{IV _| go {H$g Xoe _| {Û-Xbr` ì`dñWm h¡ ? 1 

(a) MrZ (b) ê$g 

(c) A_o[aH$m (d) ^maV 

20. {díd _| A{YH$Va bmoJ {H$g àH$ma H$s gaH$ma H$mo ng§X H$aVo h¢ ? 1 

(a) bmoH$Vm§{ÌH$ (b) g¡Ý` 

(c) VmZmemhr (d) Y_© AmYm[aV 

 IÊS> - I 

 (A{V bKw-CÎmar` àíZ) (4×2=8) 

21. (A) AZw~§{YV l{_H$m| H$s ^Vu Ho$ {bE `yamonr` bmoJm| Ûmam AnZmB© JB© {H$Ýht Xmo 
{d{Y`m| H$s ì`m»`m H$s{OEŸ& 2 

AWdm 

 (B) gmobhdt gXr Ho$ _Ü` _| "MoMH$' {H$g àH$ma ñno{Ze {dOoVmAm| H$m g~go 
e{º$embr h{W`ma gm{~V hþAm ? ì`m»`m H$s{OEŸ& 2 

22. ""H¥${f Am¡a CÚmoJ EH$-Xygao Ho$ nyaH$ h¢Ÿ&'' Bg H$WZ H$s CXmhaUm| g{hV nw{ï> H$s{OEŸ& 2 

23. ""AbJ-AbJ bmoJm| Ho$ {dH$mg Ho$ bú` {^Þ hmo gH$Vo h¢Ÿ&'' CXmhaU Ho$ gmW Bg 
H$WZ H$s nw{ï> H$s{OEŸ& 2 

24. ""h_mao g_mO _| _{hbmE§ {d{^Þ VarH$m| go ôX^md H$m gm_Zm H$aVr h¢Ÿ&'' {H$Ýht Xmo 
VarH$m| H$s ì`m»`m H$s{OEŸ& 2 

 IÊS> - J 

 (bKw-CÎmar` àíZ) (5×3=15) 

25. ""CÝZrgdt gXr H$s ewéAmV _| `yamon _| amï´>r` EH$Vm Ho$ {dMma, CXmadmX H$s {dMmaYmam 
go g§~§{YV WoŸ&'' Bg H$WZ H$s naI H$s{OEŸ& 3 

26. ^maVr` H¥${f Ho$ {dH$mg Ho$ {bE {H$E JE {H$Ýht VrZ g§ñWmJV gwYmam| H$s ì`m»`m 
H$s{OEŸ& 3 

27. gyMZm àm¡Úmo{JH$s, d¡ídrH$aU go {H$g àH$ma go Ow‹S>r h¡ ? ì`m»`m H$s{OEŸ& 3 

28. bmoH$V§Ì _| amOZr{VH$ Xbm| H$s Amdí`H$Vm H$m {díbofU H$s{OEŸ& 3 

29. (A) ^maV _| "V¥Vr`H$ joÌH$' BVZm _hÎdnyU© Š`m| hmoVm Om ahm h¡ ? ì`m»`m H$s{OEŸ& 3 

AWdm 

 (B) Ag§J{R>V joÌ Ho$ l{_H$m| H$m g§ajU H$aZm Š`m| Amdí`H$ h¡ ? ì`m»`m H$s{OEŸ& 3 
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19. Which one of the following countries has two party system ? 1 

(a) China (b) Russia 

(c) America (d) India 

20. Which type of government is likely to be more acceptable to the 

people in the world ? 1 

(a) Democratic (b) Military 

(c) Dictatorship (d) Theocratic 

 SECTION – B 

 (Very Short Answer Questions) (4×2=8) 

21. (A) Explain any two methods that were used by the Europeans for 

the recruitment of the indentured labours. 2 

OR 

 (B) How did the ‘small pox’ prove as the most powerful weapon of 

the Spanish conquerors in the mid-sixteenth century ? Explain. 2 

22. “Agriculture and industry move hand in hand.” Support the statement 

with examples. 2 

23. “Different persons can have different developmental goals.” Support 

the statement with an example. 2 

24. “Women face discrimination in various ways in our society.” Explain 

any two ways. 2 

 SECTION – C 

 (Short Answer Questions) (5×3=15) 

25. “Ideas of national unity in the early nineteenth century Europe were 

closely allied to the ideology of liberalism.” Examine the statement. 3 

26. Explain any three institutional reforms taken for the development of 

Indian agriculture. 3  

27. How is information technology connected with globalization ? 

Explain. 3 

28. Analyze the need of Political Parties in the Democracy. 3 

29. (A) Why is ‘Tertiary Sector’ becoming important in India ? Explain. 3 

OR 

(B) Why is there a need to protect workers in the Unorganized  

Sector ? Explain. 3 
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 IÊS> - K 

 (XrK©-CÎmar` àíZ) (4×5=20) 

30. (A) J«m_rU BbmH$m| _| g{dZ` Adkm Am§XmobZ H$s àJ{V H$s naI H$s{OEŸ& 5 

AWdm 

 (B) ^maV _| {d{^Þ g_wXm`m| _| gm_y{hH$ AnZonZ H$s ^mdZm {dH${gV H$aZo Ho$ VarH$m| 
H$m {díbofU H$s{OEŸ& 5 

31. (A) nmBnbmBZ n[adhZ ZoQ>dH©$ ^maV H$s n[adhZ ì`dñWm _| {H$g àH$ma _hÎdnyU© h¡? 
CXmhaU g{hV ì`m»`m H$s{OEŸ& 5 

AWdm 

 (B) ^m¡{VH$ Am¡a Am{W©H$ H$maH$m| Zo ^maVr` aobdo ZoQ>dH©$ Ho$ {dVaU à{Vê$n H$mo {H$g 
àH$ma à^m{dV {H$`m h¡ ? CXmhaUm| g{hV ñnï> H$s{OEŸ& 5 

32. (A) ""ì`{º$ H$s ñdV§ÌVm Am¡a J[a_m H$mo ~‹T>mdm XoZo _| bmoH$V§Ì {H$gr ^r AÝ` àH$ma 
H$s gaH$mam| go ~hþV ~ohVa h¡Ÿ&'' VH$m] Ho$ gmW H$WZ H$s nw{ï> H$s{OEŸ& 5 

AWdm 

 (B) ""bmoH$V§Ì _| CÎmaXm`r, {Oå_oXma Am¡a d¡Y gaH$ma H$m JR>>Z hmoVm h¡Ÿ&'' VH$m] Ho$ 
gmW H$WZ H$s nw{ï> H$s{OEŸ& 5 

33. (A) J«m_rU AW©ì`dñWm _| "ñd`§ ghm`Vm g_yhm|' H$s ŷ{_H$m H$mo Ý`m`g§JV R>hamB`oŸ& 5 

AWdm 

 (B) ""gñVm Ed§ gm_Ï`© Ho$ AZwHy$b H$µO© Xoe Ho$ {dH$mg Ho$ {bE A{V Amdí`H$ h¡Ÿ&'' 
Bg H$WZ H$mo Ý`m`g§JV R>hamB`oŸ& 5 

 IÊS> - ‹S> 
 (Ho$g AmYm[aV/òmoV AmYm[aV àíZ) 

34. {XE JE òmoV H$mo n{‹T>E Am¡a ZrMo {XE àíZm| Ho$ CÎma {b{IEŸ : (3×4=12) 

A◊~ma Š`m| ? 

 "nyZm Ho$ H¥$îUmOr {Ìå~H$ amUmS>o _amR>r H$m EH$ A◊~ma {ZH$mbZm MmhVo h¢, {Og_| 
ñWmZr` {XbMñnr H$s V_m_ Cn`moJr ◊~am| H$mo OJh {_b gHo$Ÿ& Bg_| gmd©O{ZH$ 
Cn`mo{JVm, d¡km{ZH$ AÝdofU Ho$ Abmdm àmH²$-{dÚm, gm§p»`H$s, {OkmgmAm|, Xoe Ho$ 
{d{^Þ {hñgm| Ho$ ~mao _| Am_Vm¡a na, Am¡a X>ŠH$Z na ◊mgVm¡a na OmZH$m[a`m± hm|Jr... 
Eogo V_m_ bmoJm| go _XX Am¡a g§ajU H$m {ZdoXZ h¡, Omo kmZ Ho$ àgma Am¡a OZH$ë`mU Ho$ 
BÀNw>H$ h¢Ÿ&' 

 ~m°å~o Q>obrJ«mµ\$  E§S> H$mo[a`a , 6 OZdar, 18 49 



 

32/4/1  [P.T.O. 15

 SECTION −−−− D 

 (Long Answer Questions) (4×5=20) 

30. (A) Examine the progress of the Civil Disobedience Movement in 

the countryside. 5 

OR 

 (B) Analyze the ways through which people of different 

communities developed a sense of collective belonging in India. 5 

31. (A) How is pipeline transport network important in the transport 

system of India ? Explain with an example. 5 

OR 

 (B) How have physical and economic factors influenced the 

distribution pattern of the Indian Railway Network ? Explain 

with examples. 5 

32. (A) “Democracy stands much superior to any other forms of 

governments in promoting dignity and freedom of the 

individual.” Support the statement with arguments. 5 

OR 

 (B) “Democracy produces an accountable, responsive and legitimate 

government.” Support the statement with arguments. 5 

33. (A) Justify the role of ‘Self Help Groups’ in the rural economy. 5 

OR 

 (B) “Cheap and affordable credit is crucial for the country’s 

development.” Justify the statement. 5 

 SECTION – E 

 (Case Based/Source Based Questions) 

34. Read the given source and answer the questions that follow : (3×4=12) 

WHY NEWSPAPERS ? 

 ‘Krishnaji Trimbuck Ranade inhabitant of Poona intends to publish a 

Newspaper in the Marathi Language with a view of affording useful 

information on every topic of local interest. It will be open for free 

discussion on subjects of general utility, scientific investigation and 

the speculations connected with the antiquities, statistics, curiosities, 

history and geography of the country and of the Deccan especially... 

the patronage and support of all interested in the diffusion of 

knowledge and Welfare of the People is earnestly solicited.’ 

 Bombay Telegraph and Courier, 6 January, 1849 
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 "Xogr A◊~mam| Am¡a amOZr{VH$ g^mAm| H$s dhr ŷ{_H$m hmoVr h¡, Omo B§½b¡ÊS> Ho$ hmCg 
Am°µ\$ H$m°_Ýg _| {dnj H$s hmoVr h¡Ÿ& `mZr {H$ dh gaH$mar Zr{V`m| H$s AmbmoMZmË_H$ 
g_rjm H$a, bmoJm| Ho$ {hV gmYZo _| Aj_ {hñgm| H$mo {ZH$mb| Am¡a gwYma H$a|, VWm CZH$mo  
VoµOr go bmJy H$aZo H$m H$m_ H$a|Ÿ& 

 BZ g^mAm| H$mo Mm{hE {H$ do Xoe Ho$ ◊mg _wÔm| na ZmZm Vah H$s gyMZmE± O_m H$a| Am¡a 
Š`m g§^d Am¡a dm§{N>V gwYma h¢, dh ~VmE±, BZ H$m`m] H$m H$mµ\$s Aga hmoJmŸ&' 

 Zo{Q>d Amo{n{Z`Z, 3 Aà¡b, 1870 

(I) H¥$îUmOr Ûmam g_mMma-nÌ àH$m{eV H$aZo Ho$ _w»` H$maU H$mo ñnï> H$s{OEŸ& 1 

(II) ñWmZr` g_mMma-nÌ Am¡a amOZr{VH$ g§K Ho$ H$m`© H$mo {dnj H$s ŷ{_H$m Ho$ g_mZ 
H¡$go XoIm J`m ? 1 

(III) 19dt eVmãXr Ho$ Xm¡amZ g_mMma-nÌm| H$s bmoH${à`Vm Ho$ H$maUm| H$m {díbofU 
H$s{OEŸ& 2  

35. {XE JE òmoV H$mo n{‹T>E Am¡a ZrMo {XE àíZm| Ho$ CÎma {b{IEŸ: 

dfm© Ob g§J«hU 

 ~hþV go bmoJm| H$m _mZZm h¡ {H$ ~hþCÔoer` n[a`moOZmAm| Ho$ Abm^àX Aga Am¡a CZ na 
CR>o {ddmXm| Ho$ MbVo dfm©Ob g§J«hU V§Ì BZHo$ gm_m{OH$-Am{W©H$ Am¡a nm[apñW{VH$ Vm¡a 
na ì`dhmW© {dH$ën hmo gH$Vo h¢Ÿ& àmMrZ ^maV _| CËH¥$ï> Obr` {Z_m©Um| Ho$ gmW-gmW 
Ob g§J«hU T>m±Mo ^r nmE OmVo WoŸ& bmoJm| H$mo dfm© nÕ{V Am¡a _¥Xm Ho$ JwUm| Ho$ ~mao _| 
Jham kmZ WmŸ& CÝhm|Zo ñWmZr` nm[apñW{VH$s` n[apñW{V`m| Am¡a CZH$s Ob 
Amdí`H$VmZwgma dfm©Ob, ^m¡_Ob, ZXr Ob Am¡a ~m‹T> Ob g§J«hU Ho$ AZoH$ VarHo$ 
{dH${gV H$a {bE WoŸ& nhm‹S>r Am¡a nd©Vr` joÌm| _| bmoJm| Zo "Jwb' AWdm "Hw$b' (npíM_r 
{h_mb`) O¡gr dm{hH$mE±, ZXr H$s Ymam H$m amñVm ~XbH$a IoVm| _| qgMmB© Ho$ {bE ~ZmB© 
h¢Ÿ& npíM_r ^maV, {deofH$a amOñWmZ _| nrZo H$m Ob EH${ÌV H$aZo Ho$ {bE "N>V dfm© 
Ob g§J«hU' H$m VarH$m Am_ WmŸ& npíM_ ~§Jmb _| ~m‹T> Ho$ _¡XmZ _| bmoJ AnZo IoVm| H$s 
qgMmB© Ho$ {bE ~m‹T> Ob dm{hH$mE± ~ZmVo WoŸ& ewîH$ Am¡a AY©ewîH$ joÌm| _| IoVm| _| dfm© 
Ob EH${ÌV H$aZo Ho$ {bE JS²>T>o ~ZmE OmVo Wo Vm{H$ _¥Xm H$mo qg{MV {H$`m Om gHo$ Am¡a 
g§a{jV Ob H$mo IoVr Ho$ {bE Cn`moJ _| bm`m Om gHo$Ÿ& amOñWmZ Ho$ {Obo O¡gb_oa _| 
"ImXrZ' Am¡a AÝ` joÌm| _| "Omoh‹S>' BgHo$ CXmhaU h¢Ÿ& 

(I) Ob g§M`Z àUmbr EH$ bm^àX {dH$ën Š`m| h¡ ? 1 

(II) "N>V dfm© Ob g§J«hU' H$s à{H«$`m H$m dU©Z H$s{OEŸ& 1 

(III) Ob g§ajU Ho$ {bE n«mMrZ ^maV _| AnZmB© JB© {H$Ýht Xmo {d{Y`m| H$m CëboI 
H$s{OEŸ& 2 
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 ‘The task of the native newspapers and political associations is 

identical to the role of the Opposition in the House of Commons in 

Parliament in England. That is of critically examining government 

policy to suggest improvements, by removing those parts that will not 

be to the benefit of the people, and also by ensuring speedy 

implementation. These associations ought to carefully study the 

particular issues, gather diverse relevant information on the nation as 

well as on what are the possible and desirable improvements, and this 

will surely earn it considerable influence.’ 

 Native Opinion, 3 April, 1870 

(I) Explain the main reason of publishing newspaper by Krishnaji ? 1 

(II) How was the task of native newspaper and political association 

seen identical to the role of opposition ? 1 

(III) Analyze the reasons of popularity of newspapers during 19
th
 

century. 2  

35. Read the given source and answer the questions that follow : 

RAINWATER HARVESTING 

 Many thought that given the disadvantages and rising resistance 

against the multi purpose projects, water harvesting system was a 

viable alternative, both socio-economically and environmentally. In 

ancient India, along with the sophisticated hydraulic structures, there 

existed an extraordinary tradition of water harvesting system. People 

had in-depth knowledge of rainfall regimes and soil types and 

developed wide ranging techniques to harvest rainwater, groundwater, 

river water and flood water in keeping with the local ecological 

conditions and their water needs. In hill and mountainous regions, 

people built diversion channels like the ‘guls’ or ‘kuls’ of the Western 

Himalayas for agriculture. ‘Rooftop rainwater harvesting’ was 

commonly practised to store drinking water, particularly in Rajasthan. 

In the flood plains of Bengal, people developed inundation channels to 

irrigate their fields. In arid and semi-arid regions, agricultural fields 

were converted into rain fed storage structures that allowed the water 

to stand and moisten the soil like the ‘khadins’ in Jaisalmer and 

‘Johads’ in other parts of Rajasthan. 

(I) Why is water harvesting system a viable alternative ? 1 

(II) Describe the process of ‘rooftop rainwater harvesting.’ 1 

(III) Mention any two methods adopted by ancient India for water 

conservation. 2 
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36. {XE JE òmoV H$mo n{‹T>E Am¡a ZrMo {XE àíZm| Ho$ CÎma {b{IE : 

^maV H$s ^mfm`r {d{dYVm 

 ^maV _| {H$VZr ^mfmE± h¢ ? BgH$m Odm~ Bg ~mV na {Z ©̂a H$aVm h¡ {H$ Amn ^mfmAm| 
H$s {JZVr {H$g Vah H$aVo h¢Ÿ& Bg ~mao _| A{YH¥$V ZdrZV_ gyMZm 2011 H$s OZJUZm 
Ho$ Am±H$‹S>m| go hm{gb hmoVr h¡Ÿ& Bg OZJUZm _| bmoJm| Zo 1300 go µµÁ`mXm AbJ-AbJ 
^mfmAm| H$mo AnZr _mV¥^mfm Ho$ ê$n _| XO© H$am`m WmŸ& BZ ^mfmAm| H$mo Hw$N> à_wI 
^mfmAm| Ho$ gmW g_yh~Õ H$a {X`m OmVm h¡Ÿ& O¡go - ^moOnwar, _JYr, ~w§XobI§S>r, 
N>ÎmrgJ‹T>r, amOñWmZr Am¡a Eogr hr Xygar ^mfmAm| H$mo qhXr Ho$ A§Xa Omo‹S> {b`m OmVm h¡Ÿ& 
Eogr g_yh~ÕVm Ho$ ~mX ^r OZJUZm _| 121 à_wI ^mfmE± nmB© JBªŸ& BZ_| go 22 ^mfmAm| 
H$mo ^maVr` g§{dYmZ H$s AmR>dt AZwgyMr _| aIm J`m h¡ Am¡a Bgr H$maU BÝh| AZwgy{MV 
^mfmE§ H$hm OmVm h¡Ÿ& ~mH$s H$mo J¡a-AZwgy{MV ^mfm H$hVo h¢Ÿ& ^mfm Ho$ {hgm~ go ^maV 
Xw{Z`m H$m g§^dV… g~go µµÁ`mXm {d{dYVm dmbm Xoe h¡Ÿ& 

(I) ^maV _| ^mfm`r {d{dYVm Ho$ _hÎd H$mo ñnï> H$s{OEŸ& 1 

(II) AZwgy{MV Am¡a J¡a-AZwgy{MV ^mfmAm| _| A§Va ñnï> H$s{OEŸ& 1 

(III) "^mfmAm| Ho$ g§̀ moOZ Zo Xoe H$mo EH$ gm§ñH¥${VH$ BH$mB© _| EH$OwQ> {H$`m h¡Ÿ&' Bg 
H$WZ H$s CXmhaU g{hV ì`m»`m H$s{OEŸ& 2 

 IÊS> - M 

 (_mZ{MÌ H$m¡eb AmYm[aV àíZ) (2+3=5) 

37. (i) ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ na Xmo ñWmZm| A Am¡a B H$mo A§{H$V 
{H$`m J`m h¡Ÿ& CÝh| Xr JB© OmZH$mar H$s ghm`Vm go nhMm{ZE Am¡a CZHo$ nmg 
ItMr JB© aoImAm| na CZHo$ ghr Zm_ {b{IEŸ& 

(a) dh ñWmZ Ohm§ _hmË_m Jm§Yr Zo Zrb H$s IoVr H$aZo dmbo {H$gmZm| Ho$ {bE 
gË`mJ«h ewê$ {H$`m WmŸ& 1 

(b) dh ñWmZ Ohm§ ^maVr` amï´>r` H$m±J«og H$m {Xgå~a, 1920 _| A{YdoeZ 
hþAmŸ& 1 

 (ii) ^maV Ho$ Bgr aoIm-_mZ{MÌ na {ZåZ{b{IV _| go {H$Ýht VrZ H$mo Cn`wº$ {M•m| go 

Xem©B`o Am¡a CZHo$ Zm_ {b{IEŸ: 

(a) {Q>har ~m§Y 1 

(b) Zamoam na_mUw D$Om© Ho$ÝÐ 1 

(c) nwUo gm°âQ>dò a Q>oŠZmobm°Or nmH©$ 1 

(d) hpëX`m g_wÐr nÎmZ 1 
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36. Read the given source and answer the questions that follow : 

Language Diversity of India 

 How many languages do we have in India ? The answer depends on 

how one counts it. The latest information that we have is from the 

Census of India held in 2011. This census recorded more than 1300 

distinct languages which people mentioned as their mother tongues. 

These languages were grouped together under some major languages. 

For example languages like Bhojpuri, Magadhi, Bundelkhandi, 

Chhattisgarhi, Rajasthani and many others were grouped together 

under ‘Hindi’. Even after this grouping, the Census found 121 major 

languages. Of these 22 languages are now included in the Eighth 

Schedule of the Indian Constitution and are therefore called 

‘Scheduled Languages’. Others are called ‘Non-Scheduled 

Languages’. In terms of languages, India is perhaps the most diverse 

country in the world. 

(I) Explain the importance of language diversity in India. 1 

(II) Differentiate between Scheduled and Non-Scheduled 

Languages. 1 

(III) ‘The fusion of languages has united the country into one cultural 

entity.’ Explain the statement with an example. 2 

 SECTION – F 

 (Map Skill Based Questions) (2+3=5) 

37. (i) Two places A and B have been marked on the given political 

outline map of India. Identify them with the help of given 

information and write their correct names on the lines drawn 

near them. 

(a) The place where Mahatma Gandhi started Satyagraha for 

Indigo peasants.  1 

(b) The place where the session of Indian National Congress 

held in December, 1920. 1 

 (ii) On the same outline map of India locate and label any three of 

the following with suitable symbols :  

(a) Tehri Dam 1 

(b) Naraura Atomic Power Station 1 

(c) Pune Software Technology Park 1 

(d) Haldia Sea Port 1 
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ZmoQ> … {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©̀ m| Ho$ {bE àíZ g§»`m 37 Ho$ ñWmZ  
na h¢Ÿ& (5×1=5) 

{H$Ýht nm§M Ho$ CÎma {b{IEŸ … 

(i) Cg ñWmZ H$m Zm_ {b{IE, Ohm± ^maVr` amï´>r` H$m±J«og H$m {Xgå~a, 1920 _| A{YdoeZ 
hþAm WmŸ& 1 

(ii) Cg ñWmZ H$m Zm_ {b{IE, Ohm± _hmË_m Jm§Yr Zo Zrb H$s IoVr H$aZo dmbo {H$gmZm| Ho$ 
{bE gË`mJ«h ewê$ {H$`m WmŸ& 1 

(iii) Cg amÁ` H$m Zm_ {b{IE, Ohm± Zamoam na_mUw g§̀ §Ì pñWV h¡Ÿ& 1 

(iv) Cg amÁ` H$m Zm_ {b{IE, Ohm± {Q>har ~m§Y pñWV h¡Ÿ& 1 

(v) Cg amÁ` H$m Zm_ {b{IE, Ohm± _w§~B© gm°âQ>do`a Q>oŠZmobm°Or nmH©$ pñWV h¡Ÿ& 1 

(vi) Cg amÁ` H$m Zm_ {b{IE, Ohm§ hpëX`m g_wÐr nÎmZ pñWV h¡Ÿ& 1 
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Note : The following questions are only for the Visually Impaired 

Candidates in lieu of question no. 37. (5×1=5) 

ATTEMPT ANY FIVE : 

(i) Name the place where the session of Indian National Congress was 

held in December, 1920. 1 

(ii) Name the place where Mahatma Gandhi started Satyagraha for Indigo 

peasants. 1 

(iii) Name the State where Naraura Nuclear Plant is located. 1 

(iv) Name the State where Tehri Dam is located. 1 

(v) Name the State where Mumbai Software Technology Park is located. 1 

(vi) Name the State where Haldia Sea Port is located. 1 
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àíZ g§. 37 Ho$ {bE _mZ{MÌ 
Map for Q. No. 37 
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